1

0.5

N (107" erg cm™%787")

0.5

f) (107" erg cm™%7'87")

1]

f, (1077 erg cm™27'87")
0.5

0.5 1

f, (1077 org cm™%~'87")

1]

rm471 NLR 1548n 1548.20 rm471 NLR 1551n 1550.77 rm471 NLR 1640n 1640.42 rm471 NLR 1909n 1908.73

WinHW 900 km/s 1544 1553 S/N —0.00358 WinHW 800 km/s 1546 1555 S/N —0.00370 WinHW 900 km/s 1636 1845 S/N 0.0181 WinHW 900 km/s 1903 1914 S/N —0.00557
T T T T T T T
rms 0(470+73) | | |I Fegs 0.00(1.05)E-1 +~ H rms 0(:4687: | l | | Fcgs 0.0(9.7)E-1§ ~ Hrms 437(:164£74) E=14 ] ~ H rms 0(466+72) [ | | | Fegs 0.0(1.8)E—t% -
mad 0(400+71) . ~0.00(1.05)E-1f mad 0(399+7) | -0.0(9.7)E-1 mad 380(396+71) q mad 0(398+70) -0.0(1.8)E-1
avg —8f1(-9s158) | | || finm ea(BE2£51 £ [l avg Bes(-3pa150)| | || fwhm 6e(eBo<508 £~ f|avg 108¢H18215 o f|ove sastihise) | | | | fwnm ea(ea4s508
od —797(~26+221) ' > 69(232+73 S H med -811(-5p2221) > 69(233£714 % ||med o8(—28121p) & | med —808(e1217) > 69(233+722|
—797(—102+531 A : ! —-BIA(—15{ 45 ! top 461(~84+520 ! top —809(—0+522
¢ LN I P o' 7| [l B g [P #1451 P g [|1P B8P || Il
A1 . 1 5] 1 1 -< go--—-—"J_l -{ §
] 5 : I E 5 1] g
a s o [~ a [~
e T =3 T e T
a o o o o o
-1 < =] < -1 <
z <o H z <o H — Z <
b a o a
. ﬁ § .7.-: L e ﬁ
1 o 1
1a \ [ 2 0100 O Y E
—500 ) 500 —500 [} 500 -500 0 500
velocity (km/8) z=1.364180 velocity (km/a) z=1.364160 velocity (km/s) z=1.364180 velocity (km/s) z=1.364180
rm471 NLR 3204n 3204.07 rm471 NLR [NeV] 3348.82 rm471 NLR 3427n 3426.84 rm471 NLR [O] 3728.48
WinHW 800 km/s 3194 3214 S/N 0.00735 WinHW 800 km/s 3337 3357 S/N —0.0845 WinHW 900 km/s 3417 3437 S/N —0.0143 WinHW 800 km/s 3717 3740 S/N 0.424
T T 1 + r T T 1 T
| tms 0(470+76) [T [T Fogs 0.00(1.42)e—18 «~ |t rme 372(461276) I [T Fegs Z0:1(Z2)E278 | ~ | ms 0(463::73) [T [T Fogs|0.0001.280—18 ] ~ | rme 323(440+76) | [ FJ@- 7(3.5)E-1§
Inad 0(401+73) 0.01(1.42)E-18 mad 301(390474) -0. Inad 0(393470) -0.02(1.28)E-18 mad 242(366+72) . [1.5(3.5)E-1
AR N Il 1
vg -883(-3k161) | | | | fwnm 6o(5082520) |l ovg 273(27:160) [| | | fwhm 470(s8 | o -877(-302151) | || fwim ea(sB24491) o 1l ovg 4001832144) | |Fwi-260(536419
Ined —B48(—11222) > 69(234£753) &l med 276(44£213) : ™ Ihed —843(-424200) > 69(233+696) & [ med —15(251£203) > 260(236496f
lop —B48(31:546) | | | | - top 132(22+518) - top —B43(+87+502) | | | | - top —75(401+359) | |
1_wn 1_n 1_n .
3 I ES ESf M Eq b
3 . T 1 1 e >
£ & E g T I E g
o s o [~ o [~
e T =4 T b3 T
& P & P | & b
-1 < =] < -1 <
4 o 4 o b Hz o
g 3 1L g /
] 8 .
1 ] 1 \
L ! p e Ll (I a [ L
-500 0 500 ~500 [ 500 ~500 [} 500
velocity (km/s) z=1.364180 velocity (km/s) z=1.364160 velocity (km/s) z=1.364180 velocity (km/s) z=1.364180
rm471 NLR 3870n 3869.85 rm471 NLR 3969n 3068.58 rm471 NLR 4074n 4073.63 rm471 NLR 4103n 4102.89
WinHW 900 km/s 3858 3881 S/N —0.00679 WinHW 800 km/s 3857 3981 S/N —0.00361 WinHW 900 km/s 4061 4086 S/N 0.101 WinHW 900 km/s 4091 4115 S/N -0.0819
T T T T T T T
| tms 0(461+73) I [ Trogs 0.00(1.38)-18 « H rma 0(405479) [T I ' Fegs 0.0(3.5)E-18 | ~ s ssstasezsy | 7] I Fogs 0.4(2.2)l i « | fms 477(469274) I
Inad 0(393470) -0.01(1.38)E-18 mad 0(327+78) . -0.0(3.5)E-1 Imad 388(392+70) :2(2:2)E-18| Inad 355(399+71)
hvg -877(23153) || | | fwhm e9(667:487) 2 || ovg —837(-124121) | | | fwhm 69(4052342 £ | pva —23(-192149) | [],—* 7(674+488) £ [ fva 235(182172) |
Ihed —843(51£218) > 69(231+680) &% | med —802(~514138) ' > 69(251x413) % | |ned —188(-40£207) 198(231+685) & | ned 392(28:240)
fop —843(100+490) || | | K top —B02(~792207) | | || , > kop —316(—57+495) | | - bop 437(50+542) | |
1_wn 1_n 1
r 1 Eoc T Eo[ b Eal
Il | < p f In I < > / 1 < e
T 17l £ g | 1l E g I E E |
o [~ (=] [~ o [~
] T 8 b g =
11 LTI s 8 > 8 > 2
-1 < ] < -1 <
[ HZ o = o H = WO [ H
FEyy I g 2 g ;
['+] s n
0 0 0 .I
-1 o -1 J
I A T 3 1N 3 I a L L L
~500 [ 500 -500 0 500 -500 [ 500 ~500 [ 500
velocity (km/8) z=1.364160 velocity (km/s) z=1.364160 velocity (km/s) z=1.364160 velocity (km/s) z=1.364160
rm471 NLR 4342n 4341.68 rm471 NLR 4364n 4364.44
WinHW 900 km/s 4329 4355 S/N —0.00948 WinHW 900 km/s 4351 4378 S/N —0.00131
T T
rms 0(455+75) 7 [ rms of321 +70) || Fegs 0.0(3.9)E-17 |
| [mad o(370471) 71 [ mad q(272+63) -0.0(3.9)E-17
avg —852(2084148) I < - | fwhm 69(527+340)
med —B18(281198) ~ > 69(3492422)
top —818(534::380) "
IE n
L {e > e 2
£ § 13
A o ~ o
i1 g 1 o
-3 o -3
13 < =]
|l =z o =
- I" 8 o
i il 2
0n wn
I -1 o
[ m

L [
-500 0 500 -500 [+]
velocity (km/s) z=1.364160 velocity (km/s) z=1.364160

BLR 5590 NLR 900 km/s BLR 5590 NLR 900 km/s

BLR 5590 NLR 900 km/s



